TRIPURA CHEMICAL SOCIETY
Science Aptitude Test — 2022

Stage — I (For Class - VII)
Total Marks : 50 Time allowed : 1 hr. 30 min.

Instructions : Answer all the questions. There are 30 MCQ (1-30) in Group-A
having 1 mark each. Each MCQ has been provided with four options (a), (b),
(c) and (d). Shade the correct option with BALL POINT PEN in the appropriate
box in the answer-script. Muitiple shading is liable to cancel the relevant answer.
"0.25 mark will be deducted for each wrong answer. Group B contains 10
questions (31-40) having 2 marks each. Answer these questions in the space

provided in answer script.

Group - A 1x30=30
1. The largest gland in human body
(a) Pancreas (b) Liver
(¢) Thyroid (d) Pituitary
TR ST IG 2AfY -
(a) =P (b) IS
(c) <TG (d) fip2orfa

2. Ruminants have a large sac like structure between the small intestine
and large intestine called

(a) Rumen (b) Gall

(c) Villi (d) Ceacum

AT 2N FUE @ JHITH N (A IS < A ©1 1 -
(a) T (b) fore

(c) fefmr (d) B

How will the addition of turmeric affect the colour of lime water ?
(a) The solution become blue in colour

(b) The solution become red in colour

(c) The solution becomes yellow in colour
(d) The solution becomes pink in colour
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argaes sfevan sena vyl o -

(a) WA (b) wfcwfatm
(c¢) P (d) i

8. Filuuimofacmymﬁomlhebbodmln
(a) wreter (b) nephrons
(¢) uninary bladder (d) none of these
G (T CavA wprea v Wb -
(a) AT (b) R
(c) TadTe (d) cowY =

9.  Which of the following is used for water purification ?
(a) lodine (b) Chlorine
(¢) Oxygen (d) Bromine
Seva cota *d we ARG TAET W 1
(a) W= (a) G
(c) wfsre= (d) @fim

10. Which among the following is a physical change ?
(a) Buming of wood
(b) Ripening of fruit
(¢) Cutting a log of wood in small pieces
(d) Cooking of food
Nva @A @l e offad= ¢
(a) W CATGICH (b) =
(c) #ICon Jal fan 4 (d) e 7 %=

11. In abulb there is a thin wire ealled -
(a) Filament (b) Nicrome
(¢) Electromagnet (d) Fuse wire
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& T (b) R

© . (d) fewen

- e il Ilﬂdahdchmmwmu
- grass, frog, eaghe, dmmects, snake
(@) Cmss o imsocts -~ frog
(5 Grnss —» sk -+ imsacts — f10g > cagic
«) Girass — smake — caghe —+ insocts —+ frog

o e, B, (TR, TV

(3) W1 s OO — WG — 20— B
S p———— B L B
(€)W —» 0% — By CTHRITG —» TTS

(d) ey R

1 M_“-“uwumha&d.
(a) eroct image (b) concave image
(c) realimage (d) virtual image
iy o TR X gww RV -
) (b) o
© ™ 0,3

14 An odometcr is used 10 mMCasWre |
(c) motion (d) none of these
oofS STETITRR «TTv SWE W W
(a) v (b) TN
) o (d) cw=fR=u
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15

16.

17.

18

Now & days, which of the following is being used in place of fuses?’

(a) MCB (b) Nicrome
(¢c) Filament (d) Switch
e fodrem «faard YIEe @ -

(a) MCB (b) wIELEFTE
(c) fowncS (d) o

Aliglnuyisincidallonlpllmminorurilhm“mglcoﬁncidcucc
Whllwﬂlbcdnmglcoftcﬂecﬁon?

(a) 60° (b) 90°

(c) 0° (d) 30°
mWaﬁMmmmwmmmmM
(o WA -

(a) 60° (b) 9%0°

(c) 0° (d) 30°

A magnifying glassis _____lens.

(a) Concave (b) Convex

(c) Plane (d) All the above
s sle ™ —— ™|

(a) o™ (b) Twn

(c) =e# (d) o

Inner wall of small intestine has —

(a) Salivary gland (b) Digestive gland
(c) Liver (d) Intestinal gland
ey fowram abiCa ATCE -

(a) wwonsfy (b) wneefe

(c) W= (d) wfye=fe
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19 e the il eyl of il W, JORER SOCIEOAD g

) bes B ‘aw
© P oAb
(n) % owe (b) W& e
© yolm (d) o7m el owe
20 Al from nasal cavity anter into*____* through trachea.
®) Lung (b) Chest cavity
S T (d) Abdominal cavity
wferage core Ty W wy ——— SO -
(a) P (b) TewgH
(¢) Twingr (d) Swmwge
21, What is the name of the heartbeat measuning instrument 7
(a) Barometer (b) Stathoscope
(¢) Nanometer (d) Thermometer
v wffgaTere woyE AT 8 1
() i Ol
(c) wmcfOw (d) «Afim
22 Which of the following completes its reproduction through spore
formation ?
(a) Fem (b) Dryopteris
(¢) Yeast (d) Fungi
o BT WRITE WA e SR Aosn (et ¢
@ = (b) ETCECBRN
(") " (d) w™
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23, What would be the temperature if one lit of water at 20°C is mixed
with one lit of water at S0°C 7
(a) 70°C
(b) More than “9*C but less than 70°C
(¢) 30°C
(d) In between 20°C and 50°C.
20°C SIeTaiam & 0T wowma w 50°C i o i w1 G
o | vt e o ora
(a) 70°C
(b) 50°C &rerw caf4 farg 70°C Grerwt o=
(c) 30°C
(d) 20°C 6 50°C~g3 w0y

24. In which of the following formic acid is obtained ?

(a) Wood (b) Amla

(c) Antsting (d) Grapes

wfie wifHe @i snewm am 1

(a) @ (b) el

(c) Tivitga @ (d) =gz
25. Magnesium hydroxide solution changes the red litmus to —

(a) blue (b) red

(c) violet (d) grey

ISR QRGPS = w1 FAbIpi -

(a) Nerzrn (b) e s

(c) @Oz (d) =z

| pul‘( /'O" Iol
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31.

32.

33.

35.

36.

Sora o g wrerw Ay afefry 7 wace o
(a) Sen o™ (b) Ton
(c) ETEm Wi (d) cowibe

Which of the following relationship is correct 7

(a) Speed-dimncextinw

(b) Speed = distance / time

(c) Speed = time / distance

(@) Speed = e ime

FafrfRe rwbaTa W00 (IR Ao 1

(a) Bf® =Y x 7 (b) &% ="y

() B ="/ (&) W=

Group-B
Write two difference between heat and temperature.
el & e o it wne
A train travels 560 km in 8 hours. Find its speed.
= G+ 8 IO 560 mmmmumuﬁﬁﬂmu
Give two advantages of CFL.
CFL e 2f5 e for)
What is rust ? Write the chemical formula.
! e ¢ 3 AP AT |
What is decomposer ? Give two examples of decomposers.
e & 1 vt Rrametes Sz e |
Name four diseases caused by weater pollution.

nmm@ms@mmﬁm
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37

38,

39.

40.

Write full form of MCRBS. Write the main advantage of using it.

MRS +{cat ais! forel | aft AT syt AR o |

If a simple oscillator completed 20 complete oscillationin 32 seconds

than what would be the time period ?
el e o 32 mmzoﬁq‘fcwmwﬁwmmmmqmm
LAV

What kind of change is the burning of candle 2 Justify your answer.
m@wﬁmﬂﬁmlm@miwmqﬁmn

What is neutralisation ?
e 3 0
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